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Sr Questions Answers Choice

1 Sugar industry is depend on the crop of:
A. Tobacco
B. Sugar-cane
C. Maize
D. Wheat

2 In developed countries, bulk of population does work in which economic sector ?
A. Agriculture
B. Industry
C. Herding
D. Fishing

3 Which economic activity is making Iron and Steel and Machinery from Iron ore ?
A. Primary
B. Quinary
C. Secondary
D. Tertiary

4 International Paper industry is dependent on:
A. Herding
B. Forestry
C. Fishing
D. Agriculture

5 Which category is human activity of Fishing ?
A. Primary
B. Secondary
C. Tertiary
D. Quinary

6 Which regions of the world are most suitable for commercial herding ?
A. Tundra region
B. Tropical region
C. Desert region
D. Great grass regions

7 For what purpose, Canada, U.S.A, Australia and France does cultivate wheat ?
A. For domestic food
B. For International trade
C. For industrial purpose
D. For home market

8 In rain-fed regions of the world, which type of agriculture is practiced ?
A. Commercialagriculture
B. Subsistenceagriculture
C. Fruitagriculture
D. Food cropsagriculture

9 In developing and underdeveloped densely populated countries, which type of agriculture is
being done ?

A. Subsistence agriculture
B. Commercialagriculture
C. Cash cropsagriculture
D. Fruitagriculture

10 Herding of animals is which economic activity ?
A. Secondary
B. Primary
C. Tertiary
D. Quaternary

11 Sowing crops is which economic activity ?
A. Primary
B. Secondary
C. Tertiary
D. Quinary

12 Which economic activity is trade ?
A. Tertiary
B. Secondary
C. Quaternary
D. Quinary

13 Industry is which economic activity ?
A. Primary
B. Secondary
C. Tertiary
D. Quaternary

14 In Primary economic activities, human beings got benefits from basic resources:

A. Direct

B. Indirect
C. Don not get benefits
D. Ver little

15 Which factors are responsible for development of international relations:
A. Trade
B. Politics
C. Money investment
D. International relations




